
　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

تحليل عوامل متعددة الحدود المكعبة

16x − 42x − 45x + 813 2 7x + 49x2

x − 7x + 13x − 423 2 3x + 9x2

x − 9x + 2x + 483 2 63x + 128x − 436x + 2403 2

x + 3x − 34x + 483 2 x + x2

9x − 81x2 5x − 21x + 10x + 243 2
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　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

تحليل عوامل متعددة الحدود المكعبة

16x − 42x − 45x + 813 2

(8x − 9)(x − 3)(2x + 3)

7x + 49x2

7x(x + 7)

x − 7x + 13x − 423 2

(x − 6)(x − x + 7)2

3x + 9x2

3x(x + 3)

x − 9x + 2x + 483 2

(x + 2)(x − 3)(x − 8)

63x + 128x − 436x + 2403 2

(9x − 10)(x + 4)(7x − 6)

x + 3x − 34x + 483 2

(x − 2)(x − 3)(x + 8)

x + x2

x(x + 1)

9x − 81x2

9x(x − 9)

5x − 21x + 10x + 243 2

(x − 2)(x − 3)(5x + 4)
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